—
No calculators, no cell phones, organic brain activity only.
Math 231
September 19, 2008 Name: * ke"’] .
By printing my name [ pﬁ{!gt: to uphold the honor code.
1. Fill in the blanks with points in coordinate notation, given that the the point (2,3) is
on the graph of f(z).
e #4
(2, $) is on the graph of f(x)+ 2 (Z,1) s on the graph of 3f(x) 1.3 %9
Z

(2,3) is on the graph of flz+2) (’Z: i 2 ) is on the graph of f(3x)

(2, 2-) is on the graph of f~!(x) ('2‘; 3 ) is also on the graph if f is even
2. Complete each of the following definitions. (4,1 b, . ?"

A function f is one-to-one if: *Fpr U ab e Ao (£) , aFfb =7 £ 4‘-4;07)
A function f is a power function if: Cam w'+C Bl Ax"" fov cowe Ac R, k Al

A function f is an odd function if: £C(-x) = - Fx) AF&/ PN ) PP N )

3. Assuming that f is a linear function, deduce the missing values in the table. ~_ ~ L34 1o
ever 2 +3 +1
e 1

7 > ":"_l*}" > ,“""? P ("f‘:__l_
T 1 3 5 T - o= 23-1 (o=l )
ol 1 | =5 | =8 | -1F| —23 Y= -5xrh i
A ’ cam chadk Wits

B T | \_)1\___,( 1
s S5 o~ =4

4. Use the values given in the table to deduce the missing values.

|5 #3¢,39
x| fx) | g9(@) || (f —g)(@) | (fog)(z)

FGUN=£(2)=3
1 1 2 i) .S ‘F%[zn_’.{:(tjzi

2 3 |1 2 | .Fu){mﬁ?ls')
R
3 |2 | 3 =] 2 2




5.

-

I:

What types of functions are these? Circle ALL that apply for each function. Circle
N 3 . : 1.4 #6,12
NONE if none of the options apply.

fle)l=3% algebraic / linear / polynomial / power / rational /
g(z) =427 — 2 //al / power // NONE

2 —1
R

k(r) =325 4221 / linear / polynomial / power [ rational / NONE (x)
A

T de
covld rewnde ag 1“)

algebraic / linear / polynomial / power / rational /

The graph of a function f is given below. List the appropriate information (write

NONE if none exist). Be sure to use interval notation for the last three parts. (.2 #%F
domain of f: {f-ao,—-zf)U(-L,?r)uf'Zl‘”) :
local maximums occur at: y = p
local minimums occur at: NOINE _;3 ________ _2 B 2 __________ -
global maximums occur at: NeNE :[3 \
asymptotes of f: y=1, = -2, %%
[ is positive here:  (-o0,-2) V (2,e)
f is negative here: (- 2, 4%
f is concave up here: (-ga,-%Y v (2,00)
Given the function f(z) = T find the following,. - # 16',37’.3{ y VoL
CERCURS
flz—-1)= Jenn I x+12p il

b - (x-1) 5-X gy BT ¥ *Y |
Domain(f) = [, H)V (4, 00) ___‘,‘Ef-b

- |

(ARocoffon[o,:z])zz_‘[}:z._ Rm’ﬂp):ﬁ/lgﬁ/q: 16- 1
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